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XS (Cunversutivn)

ERFEENRERF, T HE L5 HH 4 Section A (/hxt
) Section BUE KX)o &4 10 B, £ E S REBNES L —, #
Rt b xpz—, KEEENF /4120, '

t % 97 ) B (Section A) EEM X% £ A FHAFLEKR D X
FEAWBEATHAB S ECENR S, AERAHERPNAFE
B AT 247 B i

1. EAFER (Cause and Effect)

Bl B # % (cause and effect) = MK P B — M ¥ AWK A,
EWAEBT EHMYNE, —BUK,E-BRRENSEY
BERH - ANERFRZ, URARLLHAANREDAULKER
kF, HEF—FHARTEEHER, F-ARLAFEHE
BB, WEFEEEARSE — FRAFIN, ¥ A “as”,“for”,
“since”, “because” £ H AR A Gl W) 2 HBRF L KRB, BEAHRE
MAEHATHVRARER AP LA R RERERE, XHR
EEEAX, EEMW R LT, BB E A,

ERALEEEYRENAEN EERCTURRELE, £
T A — A R AR B X E WP, R A “because” , “as” # 1
EXMAEATREANELLRELF To
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MEFPHE NG —HERX R E s tha" f1"s0” 51 4, A %k
RTER, EATERK BB E 0T P, 18— R AR 24
WE-AHaL, B, %J%J:Tx#%fﬁi%aw%aé R %
RERBWNE L,

g1
You will hear :

W: Mrs. Park said she had been late for the meeting because
her mother was ill and she sent her to the hospital.

M: Sorry to hear that. Is her mother now at home or still in
hospital?

Q: Why was Mrs. Park late for the meeting?
A) She was ill.
B) She was sent to the hospital.
C) Her mother was ill and sent to the hospital.
D) She was in the hospital seeing a doctor.

A BT EERE B SRR G ARRERERT
A%, {HIRE A Mrs. Park BRIMEHE L, XREKRE LA K
RTFRULFEIEFEMNES, WEF-FXARMEEER T
Mrs. Park FF&R%), HAERMEEMR T, WS Mrs. Park Xkt
BIER:, X & — i “because” 51 H B BI I FI M B M Al M
RIFLEM E AT RIXEE, AT B) M ZE P B R -1 R
H XA RREEN EREOEETR, M. Pak 2 TERT&E
ANHAREMEDKRT. NRERMADK T, RFERAS RIS
HERR T X RIAT fes , A EE C)iix— FMTCRAERET o

51 2
You will hear :
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M: 1 thought you were going to see your mother in L. A. last
weekend.

W [ planned to, but she called and said the weekend she was
on duty at work, so I stayed on campus.

Q: Why did the woman change her plan?
A) She planned to visit her mother.
B) She was going to L. A..
C) Her mother was on duty at work.

D) She was free this weekend.

PSSR R BT R R N A, ZEXT il AR 3. BRIER R
TEM R A8 TR b RBRHE P L KRG %
f M — B R L B SR A PR R B, a2 T WEA A, B L
IEEESBA AR T, BT RIERGEFEYBIETRE,
I LT A AR R B, SRR R R B RA T B, X
P AR AT RTEN SRS LTRERT . REFRR
R BB R, BE — R IR EBRRGRA LY, 18
—EHEE, R REYH T “was on duty at work X EE
fEHE , BRI ETER EA TR ERS HHK. COMELE
7:: 0P

%l 3
You will hear :
M: Tonny was absent from school this morning. What’s the
matter with him?
W: He’s got a temperature and he went to the school clinic.
Q: Why was Tonny absent from school?
A) Because it was very hot that morning.

B) Because he was running a race.



C) Because he was busy measuring the temperature.

D) Because he was running a fever.

A AR 7 AR DU B R 2 LM TE SRS B A
BENERS SHEPRETHANRER, BHEP D 555" H
M—EEE S o, Bt AR —mMNE, XHERRES
HETFRER, BNRELFEER: ANEEFRAESA—EEKRX
L R, BT A, R A UA R R — T
BB, A ) “running a race” (B A AT LA “run a fever” 3k
FrREEHR”, B4 AFEMH “run a race”) Fl “measuring the
temperature” & #L 7 {9 T4 XETHTUFBHEER X,
B vk BRI AR L ITUER T LA, R 0 0 B X 4 B iR o) o
FHEBINZ. B, MRFWHIMAIERARE, LBRE L
W B8 B BE R B SUR B, BRI A LR B B IREE
T, WEEHEFRIE D).

il 4
You will hear :

M: Let’s go outside and play some tennis, Kate.

W: I'm afraid I can’t right now. I have to finish my assign-
ment first.

Q: Why can't the woman play tennis?
A) She doesn’t want to.
B) She has to do some homework.
C) She can’t play tennis.

D) She doesn’t want outdoor activities.

‘B REREE L IHRA “homework” Fl “ exercise” ¥ 27~
MR, A H “assignment” X A1 . W 1 &R 75 B X i AR X 1A
4



BOEHESAN N RR SRR A KHE, XU R T
o MRS RN, MR LA A A RAT" o TE R
HHRT R ARTAHEBE LT XERFARBAZEAE
WRATRIER , TR M A AR GE MRk . AR 55T B, ST
] DU o R & T Y LU AR, RARHEBR N T RE A9 H B B IR AV IR
I, LR R FA s T e 2 . A58 B)TUA IR IR #E .

&5
You will hear:
M: What happened to you? You are so late for the party?
W: My car broke down half way here, and 1 had to hitchhike.
Q: Why did the woman have to hitchhike?
A) Something terrible happened to her car.
B) She was broke and couldn’t afford the bus fare.
C) She got up too late, so she had 1o hitchhike.
D) Her car had been stolen.

EBM—IENRBEEENE ALFEATUESHEH.
BEHRILE AR D], ROUEAENRIREHE A, RN LB
RS NS, TIIMSEAE LEEE, B LRERRER
. MEMEREESEENRAEANE. XTAMNIEF “my car
broke down half way” (¥% LA 44 REEER, 8BUALH
J5 3% REEIE ZE (hitchhike) , BT A BRI A B X B R EH B)
irh ) “broke” (B = . £ 4% & £ 4 X) I 8 (AT 7 B9 “broke-
down WX EXXEZ, WMiFPEMHNREE: LEFLRPE L.
R EERE MG RETMNER, YRESER—RE
B ET— B E R —MTTRE T . ATLL A)SR EREH.
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Exercise 1

1. A) The room is too crowded.
B) The rocom is too small.
C) The room is dirty with step stains.
D) They couldn’t play ball games.
2. A) The program was not interesting enough.
B) She didn’t want to listen to the program.
C) She had to meet her students.
D) The students’ questions kept her busy.
3. A) There was not any movie on that night.
B) The movie was not interesting that night.
C) There was no interesting movie and his friends were
coming.
D) He didn't want to see movie as usual.
4. A) She doesn't like beach picnic.
B) It will be very hot. Besides, she can’t swim.
C) She doesn’t like picnic though she loves swimming.
D) It will be too hot for a beach picnic.
5. A) The apartment is too small.
B) The apartment is too expensive.
C) The sitting-room is not big enough.
D) The kitchen is too small and it’s too expensive.
6. A) Some meat and fruit.
B) Some fruit only.
C) Nothing.
D) Anything but some meat.




10.

. A) She worked day and night.

B) She overworked herself.
C) She liked to work over the night.
D) She preferred to take the night shift.

. A) She thought it’s not the right time.

B) She doesn’t like a holiday.
C) She is not sure when to have a holiday.
D) She is not sure if she really wants to go on holiday with the

marn.

. A) Her daughter is taking a shower.

B) Her daughter is with her friends.

C) Marilyn is out on a weekend outing.
D) Ellen is away and it’s raining heavily.
A) She stopped doing heavy lifting.

B) She is on a diet and exercises much.
C) She had a lot of meat.

D) She took some exercise weeks ago.

.+ E (Negation)

%% (negation) EE B 4 o MAEBNREFILET -

BE-ARE, EFHEEL-THREXBRRBRRRTS
sWHR AR, AGIREM LGS, W XEFRARR
FERNHARS EAXELRE - ARREFRANHLT X
ﬂﬁﬁ#i&%%ﬂ&%%%ﬂ%ﬁﬁ)ﬁ“Yes”ﬁﬂ“No”éﬁ'>TJ'FE?’H’?X
EEFAR, TLERAEREFFEASRTLGHRA. ¥A

WA “no”, “neither”,” nor”, “last”, “few” , “little” % . 839
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“not” , “never”, “hardly”, “scarcely”, “seldom” % ; ¥ & + & # 17
70 gl 18 48 1E 1 “miss”, “lose”, “fail to” % , T LB R T E B4 X,
EETF, B TXRFANER, RS TR LEMR LS 248,
HHPERBENER, A — DA LEEEGF —NWiL, 2 H
BHRABNNGRES]  FEEHZERH RGP, RILZ 4,5
HASHAREL S LHEREVFRREAR NS T EEXN
A NTEAFEEX LERELNT ., IR EEWT HMNETR
HEEERABHRE, SHLATREBWEE,

Bil e
You will hear:
W: Many people put their money in the bank for interest
because it leads to no risk.
M: Put money in the bank? That’s the last thing I would do.
Q: What does the man mean?
A) The man wants to put money in the bank because of
security.
B) The man doesn’t want to put money in the bank.
C) The man doesn’t want to put money in the bank because
of it has no risk.
D) The man wants to put money in the bank for more

interest.

LR EXHES, B BRI o H not" X EFE 8, BT
Te®ATA] B AR 2% B E B REFABRITRXMMIE
“the last thing 1 would do” ETHREABEHEEABITEME.
FAJHH)“ the last thing” #HFH A /E“ &6 ¢ F M, R EFA
BT B RMRE R, BT EERIABHEMERTE .
fE— M T, B A B Put money in the bank? £ & A, XBLE

8



22X E SRR RREER T o R R FHAR R R EE R R
RIGEFRE M. B)RREHEE,

il 7
You will hear :

W: In winter there are fewer people going to the north for
holidays.

M: That's quite natural. It’s too cold in the north. Summer in
the north is the right season for holidays.

Q: What's the man’s response to what the woman said?
A) He agrees with what the woman said.
B) He doesn’t agree with what the woman said.
C) He would rather go to the north in winter.
D) He would rather go to the north in winter than in

summer.

R “few” F1“ fewer” J5 10 4 TR AR M FH E BUE R, fE “ few™
“fewer BB XA BIR“HR V"R £ V", B LA “fewer people go to
the north for holidays” Bl EE XL KB L F EBHAR
7 AR B A “That’s quite natural” BN L FEFFRN BTN E E
HFE, BEERA(LEGLF 4 & EBE & L) RERT¥H
(GRAR A ROMESE 5K T, ETRExfiEet, B S
E WA FHEZARRE ARAEEERMRETHEEN,
B BB, ELE  TER A9, N E VT B % E , R A a0
BIUAEET R RE LSS XA A E T 5 Bt f 2
R  ELUE I RN, AR EFEE,

#i8

You will hear:




W: The undergraduates could hardly understand the French
lecture which was given last week.
M: Neither could the graduate students.
Q: What can we learn from the conversation?
A) The graduate students could understand the lecture.
B) The undergraduate students could understand the
lecture.
C) Both the undergraduate students and the graduate
students could understand the lecture.
D) Neither the undergraduate students nor the graduate

students could understand the lecture.

AERELFEAT “hardly” XA EEF. AEEHNTFIAT
“neither” X M, RAE TR R 2 R & € , B L a
) EEMBE AR EERR . U A HXHE A #9 “neither” R X
PR R4 IR E “neither” ST M LT “no”s RBBLFH
FAISREAEN, EHERSBRPERIIERX—R. RHE
8] A hardly” #1“neither” X F-™H A & € B X KYiA, (B R et
B EENARTINEEE. I ERENRET el
REH, HI D) A IERERER,

%19

You will hear:
M: On no conditions should we go to their dancing party this

weekend.
W 1 can’t agree more. There will be too many people, too.

Q: What does the man mean?
A) There is no doubt that we should go to the party.
B) We should definitely not go to the party.
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